2R M2-B-00105 &

(s

@ 1) 17°-0100

0
0
4D Ut yd6-0380
2" Y
099441268
m o
0 _ L 1l
)
) 0]
ESMIY
TB1401

_____ S O’\\J
@ &M M6x50 /t = ==

@ # I M8X20

@ N 79954- M8
J B 7954- M8
@ 2197° £ yd1.2 - 0400
0 10
0
00T

S17M(52)K-0020

G‘; .
L
/

N 2795%- M8

®@ 7954- M8

FYp M6
7994- M6

® Y9+ M8

® 7y31- M8

eV,
TB1461

® 7Y5%- 20x8.5x5

=

D D

O O
— [T

@ &M M8x40

@ N z7994- M8

q7

1%

2 | MB-2000

No| ¥ m+ BmES g g%

@ | Ih M8x20 |2 |¥17M5E)K-0020

@ N z799r- M8 2 | J17M5E)K-0020

® |7I71- M8 2 | J97M58)K-0020

@ |& I M8x40 (2 |[J¥IMEE)IRTBALE

@ |V 27991- |M8 2 [JYIMEE)IRVIBALE

® 7Yy1- 25x8.5x5 |2 |¥1TIME)KR TRy LE

® |7Y91- M8 2 |SINGE)IR BRI LE

® |TYb M8 2 |JHIMEE)R GBELE

@ K b M6x50 2 EEZeE-7-AXREE
N 27994-  |M6 2 EE£E-T-AXREE
@ [7Y91- M6 4 EEEE-T-AXREE
TN M6 2 PEEE-T-\ZREE
@ |t yP6 0380 4 |T-hx=

@ |2+y7° b vd1.2|0400 4 |T-bZ=

@ |WINAT 0100 2 |650mm

SINEE) K-0020 |2 |7T-bXAEE

M2-B-0030
RIENo M2-B-0030
REER B 2021.01.14
RE 80%

By (mm)

HEE T-hEB D 5 K
REHR A2

kRE YANAGIHARA

AR WARR




